Practise
LA |
1. Solve.
al 2'=16 by 3¥=27
¢ 2'=128 d) 3v=125
el 4=256 fl 729 =9
I (=3)'=-27 h (=2)'=-32
i (=5)"=25 i 81 =(-3)"
kl -2¥=—16 | -4 =64
m 5= (25 N (=1) =
o) (~1)"=—1
2. Salve.
al 7" =49 bl 3= 27
d 27 =12 d 4%=64
e 577 =25 fl —81 =-3%®
g 4= h 37 ¥=
I -)*=1
3. Solve and check.
al 6.Y+3:62.x~ by 273 = g2
¢ 32J'+3:3y+5 di 2477 et
7. "Solve and check.
a) 4°=8 bl 64° =16
o (-8 =-2 d 97=3
91 6 1
e 2 Py f9 ="2-7—
gl 2°= 16" hl 27%=32
) 923+l =177 :
8. Solve and check.
a) 97 =27" b 16 =64%7"
d 367 *=216"  d 87 '=16""

E) 251 —Sx: 125—x
9%, Solve ar_)d check.

a) ‘52:25E
d 95=27
1
i_ =
el 4 5

Apply, Solve, Communicate

12. Communication Solve 47*? = g***?

. ﬂ 1634»1»: 32}-2b

b). '8 = 2

i ‘d) L_pf
2

3E

4
9

" (3)

. Explain your answer. .

pLecthee mecd es L

o 7M1 2 [ 3070 g

4. Solve. .

(1) 162,\*____ ij b) 4r= 8:+l

o 277 = 9% d) 257 = 125
) 16%7" = gi+t f (»8)' ~u_ (=32)'""
5. Solve and check.

CI) 2:-#5.: 4x+2 b) 2,\-:4,\-—|

C) 9lq—0=3q+6 C” 4;:8x+l

e} 2777 = g2~ fi 87" = 16!

6. Solve and checl.
1

o 577 == bl 10777 = ——
5 10 000

(] X — l — I

g > 7== I
6 s

e) SZn—HZJ_ %1_: 25w
125 f 256 o

10. Solve.

u) 3(5x+1)___15

b) 2(3¥ ") =18

d 549 =10

d) 2<4v+l):l

e 2=6(3Y7Y
.ﬂ 27(33x+1) = 3

11. Solve and check.

a) 271 - 2" =48

b) 477+ 4°= 260

d 2°7° 4+ 2°=1056

d) 6x+1+6x+2:7

e) 3x+5_3x+1=648

B0 10 =11

9] 2x+2_2x+5=_7

h) 377 43" _972=0
i) 5" =5" = 2500

14

13. Half-life The half-life of ruthenium-106 is 1 year, so the decay of
ruthenium-106 is described by the exponential equarion

1\
AL=A0(§>

where ¢ is the elapsed time, in years. If an original sample of ruthenium-106
had a mass of 128 mg, and there are 2 mg left, what is the elapsed time?

14. Paper industry Strontium-90 is used in machines that control the
thickness of paper during the manufacturing process. Strontium-90 has a
half-life of 28 yeats. Determine how much time has elapsed if the
following fraction of a strontium-90 ksample remains.
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Choapter T

. Getting Started, p. 2

La) 250 < [ 21 000 b) 760 < / £ 1520 2. a) yes
b) no 3. al no b} yes 4. grasshopper 5.a) 1000 5 /<20 000

h) T]-l 6. a) the soprano hl probably not

Review of Prerequisite Skills, p. 3

1Loa) 247/ 30 k) 4w — 13« -4m+ 32d) 10y~ 26
4x 420 f) —x~ 18y¢g )—/\ +4\;+Hy 2. u) -3

~8e 5

e) Ox
b)3d5d)2e) 58 —-4g) 3 3. u]——b) ]‘)()—d)
§79 105092502717 4.a 770 =29 b) 122735+ 2)

¢ 2x(2y— z+5) d) 4325 = dx+ 1) e) Sap(dx+ 2= 9)
1 5 2ab+ b= 3) 5 a) (x4 3)x+4) b (y=-4)(y+2)

O (d+ 5)d = 2)d) (= 3)x—5)e) (1w~ No+ 9) §) f1— 4)
9 (=57 h (x= 8)(x+5) 6 a) (x+3)(2x+ 1)

b) (x— 1D(2x—1) 0 (r=5)(37 + 4)d {y-12y-9)

el 2x+ 1)3x=1) 8 2x+3) gl Ga— 430+ 4)

B (2= 3B+ 1) D {4+ 220+ 3) ) Ba=1)°

k) (x+4)B3x=5) B20Q20+5) 7.a) 2, -1 W3, =397, 0d)2

a

e) —2, —4 ) no real roots-g) 2, 71)— h) ~—}7, -3

Section 1.1, pp. 9-10

La2 w2 o2 2" 27 H2 g2 w22 2

- - 1 ] 1 ]
W22 2al—h 1 d-=d—e —1 1259 —4 h) ~———
4] ) u 5 T e 125 gl ) o
Laaman’ab dadb e)A)vf)—g)—~h) I)(I])-—l—

m oy ab’
4. q) % b)m(}ld)——e)mf)rSu)\b)ﬂ/J ()——d)
: 7 X

7 1 o4 M3
e L f)— 6w - b= d e d) e 7.a) 154"

/)‘4 _‘\“‘J/) 8 /]l )rlg x [7(!

W =204 4 304 & 2t e o =C )_(’7 h 5

‘ " 2 H U

W Sab’ ) 2 k) S l) ﬁi m) 75 n) —)— o) =27 )—4—)—
// b I it

ﬂ‘)/fhf _J’H ) 1657

8. a) 47" b) ~04x" 0 9" 0" d) — o) e ,
HSz/ 8 81" 9y
1 Hr
hy Al’”_ il M: o 0 4\‘ 0.5 b) | ()j
2/7 b 4m' _y " 8
d) 12e) 3 10. 12 000 years ago M. a) 1024 \b)_]_ s

12 u)?*‘ X (242 -2"=2"m 3" -3+ (3" _3) 37
13. 20" is greater, since 400" = (20" = 20™. 14, @) 3_2

774 MHR * Answers

M.a 4, 5027, 5°d) 2%,

2

h) é_‘r; =1 d)0 15. aynoneblall 16.u)2 )4 g+3d)5
2.} '

17. all values except x= 0

Section 1.2, pp. 16-18

L 28537 xdl () el (L6) 0 (6) g —— by -
7 WY
i ] , A '
i} =) == 1 35 D 3% 2.0) 77 h) 347 ¢ (=11)
(\,’\') (\ 4

i 4 i i ! o t [ toA

A e G R b gyt ha ) .\7 T2 BTy 5

,
3026505205 f- gl TR 02050 0003
“ ]

1

3 \ a e ».}H s 1 "oy
); 4. a) 4 b) &« 243 d) 27 e} - f} 4 g 3 h)—(;:)l)))

000, 4
27 09

g) =32 h) 4 i} not possible j) 5 k) 1{—} 1 27 m) not possible
)

[
n) —599 ASpP 3PS 2s)3N12 6.u xh)xo 3N
1 L . ) Loyt U
d) 275" e) 3 B vy o'l b =Bt 3k ;)_%- ) X
.']I .

9
b 1000 o = d) 5 e) =5 1) 4
4

B as
0 x'm x' ) a*h o) @¥6" 7. Estimates may vary.
a) 2.05 h) 21.67 ¢ 0.19d) 1.71 e} 0.31 §) 2.68
8. 2.7 m/s 9. a) Expand and simp“ﬁ/ the cquarion

P4 d = (r+ ) to obwin d= Qi+ K ). b 357 L i,

1609 km 16. 65 km 1.« 27.6m 12.277.2,293.6.311.1,
32‘).6._ 349.2, 370.0, 392.0, 415.3, 440.0, 466.1, 493.8,
5232 12 S 392, 4,6, ... ddel2H 1.3, 5, ...

[ TS F

8% 57, 107

T—

i
(a1
Tot—

el 11 differenc-sized squares can be made. 27, §*
Lo

10%, 177 137
Section 1.3, pp. 23-25

La)db3a7d13eldH3g)30N50204 0403 m4

n} x any even integer o] 7z any ogld integer 2. @) 4 b} —1 ¢ =0
d el £§-2gt1h [i}all valuesofl v 3. a)3 b} 4 2d) 4
)20 -2 4a0W-30-3d)2e} 152 5. a)1h2006

h~5e)58 1 6.a)5h-292d ~]e)

292 7.«)1

} ] 1 3
h)-—-()—%-d) -2~ )——f)—~g) ](711)'-~l)7J 8. u]—b)z

] 2 1 ‘ N
()Ed)—ze)—%-”“-f 9.u) 1 h)() ()-,—)—d)"‘[) e)‘—() )“4

L

10. n)ob)lu;ld)—ie)l,n—1[11.u)4 b 1g5d—1e3
2 2 4

fi=3 ¢ =2 h) 4 1) 2 12. The equation is true for all values of
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| ) X =16 chede 2%: 1] LR A™ 232 chedt 7P im ﬁ e
! SF RS §553¢ = 6553V 974 s o8 1537 , ®
‘ m -2 =5 32232 \/ g
j o | [ -5 ®
;i = -
z; , | | -
i \/: dsrt _ > M‘\ olz(/q)ﬂ <92 e
’i” e 47! =27 e
5‘ 45+2=3 P a2y e
% ?\s W\ mem , - g
m 3 PR ook’ O('/m: Nzt'e) b\ 16‘3 W ek M)% :é“{i(%)ﬂ :

Bam Séxc - c'% 227 ;L“T 26(243 )) 9= éq'/z , ﬁ

4 )&x*l%& - at=az .- e blay ) 32 Vg

i3 40 = 244 @

L %ﬁ;‘/?ﬁ &

- Lx>

N3 216 ek %k—l 20 4) gm-‘ S ek =

‘ ézla-ﬂ - és(—ch) é-s/)_ - 2‘ 6“ ;L (2%-1) g\qm X%‘&M R e~

ab= gt SR dac)) =de) g7 e 1/3
BRI S T L T I msc,ab 005555V g 3

A

)

-3x ® - - 4 = =C%)

ela P25 fhedis 57 P\, o =3 Chck: 162327
%:‘52(%0 = oK 157 =25 ¥ g‘a(w) = 250-1»0 A 5 33;‘ / 2
| 1d~6x =-3R 0,04 = 0.04 R |2+4K = 5ok 1024 = 1024

9= % K = 5-1A

r’ﬂ [ = %)
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A,q,ﬁz = ‘;AH *

" 2 B = ﬂmWﬁF
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